

St. Louis County, Minnesota



Date of Report: 5/10/2025 3:02:45 AM

			General De	tails				
Parcel ID:	235-0030-02	260						
Document:	Abstract - 13	67534						
Document Date	e: 09/27/2019							
		Le	gal Descriptio	on Details				
Plat Name:	BALKAN							
Sec	tion	ownship	R	ange	Lo	t	Block	
1	4	59		20	-		-	
Description:	SE 1/4 OF 3	SE 1/4						
			Taxpayer De	etails				
axpayer Name	e TRENBERT	H LYNDA						
and Address:	6555 COLO	MBE RD						
	CHISHOLM	MN 55719						
			Owner Det	ails				
Owner Name	TRENBERT	H TAHNEE LYN	NE					
		Pay	able 2025 Tax	Summary				
	2025 - N	let Tax			\$4,947.00	)		
	2025 0	nacial Accord	onto		¢95 00	,		
			al Assessments			\$85.00		
	2025 -	Total Tax &	Il Tax & Special Assessments \$5,032.00					
		Curre	nt Tax Due (as	s of 5/9/2025	)			
	Due May 15		Due October 15			Total Due		
2025 - 1st Ha	lf Tax \$2,516.	00 2025 - 2	2025 - 2nd Half Tax \$2,516.00		6.00 2025 -	2025 - 1st Half Tax Due		
2025 - 1st Ha	If Tax Paid \$2,516.	00 2025 - 2	2025 - 2nd Half Tax Paid		60.00 2025 -	2nd Half Tax Due	\$2,516.00	
2025 - 1st Half Due \$0.00		00 2025 - 2	2025 - 2nd Half Due \$2,516.00		6.00 2025 -	2025 - Total Due		
			Parcel Det	ails				
Property Addre	ess: 6501 COLO	MBE RD, CHISH	IOLM MN					
School District								
Tax Increment	District: -							
Property/Home	esteader: PERNAT, D	ANE S						
		Assessme	ent Details (20	25 Payable 2	2026)			
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$33,700	\$117,300	\$151,000	\$0	\$0	-	
	0 - Non Homestead	\$8,300	\$0	\$8,300	\$0	\$0	-	
111		\$18,000	\$199,300	\$217,300	\$0	\$0	-	
111 207	0 - Non Homestead	ψ10,000						



St. Louis County, Minnesota



_							
				Land De	etails		
Deed	ded Acres:	40.00					
Wate	erfront:	-					
Wate	er Front Feet:	0.00					
Wate	er Code & Desc:	W - DRILLED WE	ELL				
Gas	Code & Desc:	-					
Sew	er Code & Desc:	S - ON-SITE SAM	NITARY SYSTE	M			
Lot \	Nidth:	0.00					
Lot I	Depth:	0.00					
The	dimensions shown are not	t guaranteed to be s	urvey quality. A	dditional lot	information can be	e found at	
nttps	.//apps.stiouiscountymn.g	ov/webPlatsiframe/r			ils (RESIDEN	ions, please email PropertyTa	ax@stiouiscountymn.gov.
		Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
"	mprovement Type HOUSE	1975	Main Flo 1,15		1,158	ECO Quality / 347 Ft <sup>2</sup>	SE - SPLT ENTRY
ſ			Width			Foundati	
	Segment BAS	Story	0	Length 0	Area 32	CANTILE	-
	-	-	•	-	-	-	
	BAS	1	1	8	8		
	BAS	1	1	18	18		
	BAS	1	25	44	1,100	BASEME	
	DK	1	8	10	80	POST ON GR	
l	SP	0	6	12	72	POST ON GR	
	Bath Count	Bedroom Co		Room Co	ount	Fireplace Count	HVAC
	1.0 BATH	3 BEDROON		-			CENTRAL, ELECTRIC
			-		ils (NEW HOU	•	
l li	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
r	HOUSE	2016	2016 1,200		1,200	-	RAM - RAMBL/RNCH
	Segment	Segment Story V		Width Length Area		Foundation	
	BAS	1	30	40	40 1,200 -		
	OP	0	8 22 176		FLOATING	SLAB	
Bath Count		Bedroom Co	unt	Room Co	ount	Fireplace Count	HVAC
	1.75 BATHS	-		-		-	C&AC&EXCH,
			Improveme	nt 3 Detai	ls (ATT GARA	GE)	
l li	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	GARAGE	2016	840	)	840	-	ATTACHED
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	30	28	840	-	
			Improvem	ent 4 Det	ails (Fab@Sp	lit)	
l	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
CAR PORT		2020	200		200	-	-
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	10	20	200	POST ON GR	OUND
			Improveme	ent 5 Deta	ils (Rubberma	aid)	
							Style Code & Desc.
S	FORAGE BUILDING	2020	64		64	-	-
[	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	8	8	64	POST ON GR	
1 <sup>1</sup>	-		-	-			







## Date of Report: 5/10/2025 3:02:45 AM

		Improve	ement 6 Details	(Grnhse)				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	ement Finish	Style C	Code & Desc.	
CAR PORT 20		20	0 2	00	-		-	
Segmen	t Stor	y Width	Length	Area	Foundation			
BAS	1	10	20	200	POST ON G	ROUND		
		Improv	ement 7 Details	s (Grey)				
	Improvement Type Year Built		oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	sement Finish		Code & Desc.	
CAR PORT	0	28	-	80	-		-	
Segmen		•	Length	Area	Foundation			
BAS	1	14	14 20 280		POST ON GROUND			
		Sales Reported	to the St. Louis	County Auditor				
No Sales information	ion reported.							
		As	ssessment Histo	ory				
	Class						Def	
Year	Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
	201	\$33,700	\$117,300	\$151,000	\$0	\$0	-	
_	111	\$8,300	\$0	\$8,300	\$0	\$0	-	
2024 Payable 2025	207	\$18,000	\$199,300	\$217,300	\$0	\$0	-	
	Total	\$60,000	\$316,600	\$376,600	\$0	\$0	3,979.00	
	201	\$33,700	\$107,400	\$141,100	\$0	\$0	-	
-	111	\$8,300	\$0	\$8,300	\$0	\$0	-	
2023 Payable 2024	207	\$18,000	\$182,500	\$200,500	\$0	\$0	-	
	Total	\$60,000	\$289,900	\$349,900	\$0	\$0	3,755.00	
	201	\$29,800	\$87,500	\$117,300	\$0	\$0	-	
	111	\$6,900	\$0	\$6,900	\$0	\$0	-	
2022 Payable 2023	207	\$16,700	\$148,800	\$165,500	\$0	\$0	-	
	Total	\$53,400	\$236,300	\$289,700	\$0	\$0	3,044.00	
	201	\$27,200	\$71,500	\$98,700	\$0	\$0	-	
0004 Daughte 0000	111	\$6,000	\$0	\$6,000	\$0	\$0	-	
2021 Payable 2022	207	\$15,900	\$112,600	\$128,500	\$0	\$0	-	
	Total	\$49,100	\$184,100	\$233,200	\$0	\$0	2,369.00	
		T	Tax Detail Histor	у				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV		al Taxable MV	
2024	\$4,415.00	\$85.00	\$4,500.00	\$54,139	\$271,220		\$325,359	
2023	\$4,403.00	\$85.00	\$4,488.00	\$46,621	\$216,396			
2022 \$2,763.00		\$85.00			\$163,558 \$20			







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.